


DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 = 𝟑 + 𝟐, 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒙 +
𝟏

𝒙
𝒊𝒔:

(a) 𝟐 𝟐

(b) 𝟐 𝟑

(c) 𝟐

(d) 3



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 = 𝟕 − 𝟒 𝟑, 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒙 +
𝟏

𝒙
𝒊𝒔:

(a) 𝟑 𝟑

(b) 𝟖 𝟑

(c) 𝟏𝟒 + 𝟖 𝟑

(d) 14



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 = 𝟐 + 𝟏
−𝟏
𝟑 , 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒙𝟑 −

𝟏

𝒙𝟑
𝒊𝒔

(a) 𝟎

(b) − 𝟐

(c) −𝟐

(d) 𝟑 𝟐



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 =
𝟑

𝟐 + 𝟑 , 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒙𝟑 +
𝟏

𝒙𝟑
𝒊𝒔:

(a) 𝟖

(b) 𝟗

(c) 𝟐

(d) 4



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 = 𝟏 − 𝟐, 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒙 −
𝟏

𝒙

𝟑

𝒊𝒔

(a) −𝟖

(b) 𝟖

(c) 𝟐 𝟐

(d) 1



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 = 𝟓 + 𝟐, 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇
𝟐𝒙𝟐 − 𝟑𝒙 − 𝟐

𝟑𝒙𝟐 − 𝟒𝒙 − 𝟑
𝒊𝒔 𝒆𝒒𝒖𝒂𝒍 𝒕𝒐

(a) 𝟎. 𝟏𝟖𝟓

(b) 𝟎. 𝟓𝟐𝟓

(c) 𝟎. 𝟔𝟐𝟓

(d) 0.785



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 = 𝟑 + 𝟐 𝟐 𝒂𝒏𝒅 𝒙𝒚 = 𝟏, 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇
𝒙𝟐 + 𝟑𝒙𝒚 + 𝒚𝟐

𝒙𝟐 − 𝟑𝒙𝒚 + 𝒚𝟐
𝒊𝒔

(a)
𝟑𝟎

𝟑𝟏

(b)
𝟕𝟎

𝟑𝟏

(c)
𝟑𝟓

𝟑𝟏

(d)
𝟑𝟕

𝟑𝟏



DAILY CLASS AT 10 AM FOR CDS 

𝐼𝑓 𝑥 = 3 + 2, 𝑡ℎ𝑒𝑛 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑥2 +
1

𝑥2
𝑖𝑠

(a) 4

(b) 6

(c) 9

(d) 10



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 = 𝟑 + 𝟐 𝟐, 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒙𝟐 +
𝟏

𝒙𝟐
𝒊𝒔

(a) 𝟑𝟔

(b) 𝟑𝟎

(c) 𝟑𝟐

(d) 34



DAILY CLASS AT 10 AM FOR CDS 

𝐼𝑓 𝑥 = 2 + 3, 𝑡ℎ𝑒𝑛 𝑥2 +
1

𝑥2
𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜

(a) 10

(b) 12

(c) −12

(d) 14



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒂 = 𝟐 + 𝟑 , 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒂𝟐 +
𝟏

𝒂𝟐
𝒊𝒔

(a) 𝟏𝟐

(b) 𝟏𝟒

(c) 𝟏𝟔

(d) 10



DAILY CLASS AT 10 AM FOR CDS 

If x = 𝟑 + 𝟖, 𝒕𝒉𝒆𝒏 𝒙𝟐 +
𝟏

𝒙𝟐
𝒊𝒔 𝒆𝒒𝒖𝒂𝒍 𝒕𝒐

(a) 𝟑𝟖

(b) 𝟑𝟔

(c) 𝟑𝟒

(d) 30



DAILY CLASS AT 10 AM FOR CDS 

𝐼𝑓 𝑥 = 3 + 2, 𝑡ℎ𝑒𝑛 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑥3 +
1

𝑥3
𝑖𝑠

(a) 6 3

(b) 12 3

(c) 18 3

(d) 24 3



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 = 𝟑 + 𝟐, 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒙𝟑 −
𝟏

𝒙𝟑
is:

(a) 𝟏𝟒 𝟐

(b) 𝟏𝟒 𝟑

(c) 𝟐𝟐 𝟐

(d) 𝟏𝟎 𝟐



DAILY CLASS AT 10 AM FOR CDS 

𝑰𝒇 𝒙 = 𝟑 + 𝟐 𝟐, 𝒕𝒉𝒆𝒏
(𝒙𝟔+𝒙𝟒+𝒙𝟐+𝟏)

𝒙𝟑
is:

(a) 𝟐𝟏𝟔

(b) 𝟏𝟗𝟐

(c) 𝟏𝟗𝟖

(d) 𝟐𝟎𝟒


